Math 176: The Law of Sines
Given any triangle ABC, the lengths of the sides are proportional to the sines of the corresponding angles. 

In symbols:
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1. The path of a satellite orbiting earth causes it to pass directly over 2 tracking stations, A and B, which are 50 miles apart.  When the satellite is on one side of the 2 stations, the angles of elevation at A and B are 87( and 84.3(, respectively.  

a. Draw a picture of this situation.  In the triangle formed, what type of information do you know?

b. How far is the satellite from station A?

c. How high is the satellite above the ground?

2. Solve the triangle:


3. Use the Law of Sines to solve for all possible triangles that satisify the given SSA conditions.
a.
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